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Vv 800 - 17.5% 32.5%
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Direction(1-5): The following table chart shows the detail regarding failed students of a coaching institute of
five sections . Few data are missing in the table , which has to calculate to answer the questions . Total failed
students = Failed boys + Failed girls

Total failed Ratio of girls % of total girls % of total boys
students ( Boys | failed to failed | failed opt for failed opt for
+ Girls) boys revaluation revaluation

I 350 3:2 - 25%

Il 600 - 32% 44%

1 420 4:3 22.5% -

IV 450 2:7 18% -

V 800 - 17.5% 32.5%

Q1) If average students not opt for revaluation of section lll is 168 and average failed boys opt for revaluation
of section Il and Il is 92, then number of failed girls not opted for revaluation of section Il is ..........
a) 170 b) 140 c) 190 d) 180 e) none of these



Q2) If 25% of the total failed students from section V opted for revaluation , then what was the difference
between number of failed girls not opted for revaluation and failed boys not opted for revaluation from
sectionV ?
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a) 55 b) 120 c) 54 d) 60 e) none of these

Total Ratio of | % of total | % of total
failed girls girls failed | boys failed
students ( | failed to | opt for opt for
Boys + failed revaluatio | revaluation
Girls) boys n

I 350 3:2 - 25%

I 600 - 32% 44%

1 420 4:3 22.5% -

vV 450 2:7 18% -

V 800 - 17.5% 32.5%



Q3) If the ratio of number of failed girls not opted for revaluation to failed boys not opted for revaluation from section | was 6:5
, then what was the ratio of the total failed girls not opted for revaluation from section IV to the total failed girls not opted for
revaluation from sectlon | ?

?Ti? T3 ufr JeAHeTche] I fdhed el Teolol aTell 34?|‘rﬁ13‘r CEER a?r T I {qs kil ‘-Io-ld-lcve-llcho-l #T [dheqd el
IeTol Tl Hﬂ?ﬂﬁ agafr I T&] 1 31o1q|<-| 6:5 o7, ar @3 vy ‘-Io'ld-lo'é-llcho-l CAEET El do-lo-l qrell el 37eTIToT
Jsipat T @3 1Q JeTH{ cdTehe] Rpoq o o1 e 3fecior Tefhat Fol TEAT 3'|0'|‘-II(‘I Far e

a) 41:40 b)2: 1 c) 41:42 d) 41: 30 e) none of these

Total failed | Ratio of % of total % of total
students ( | girls failed | girls failed | boys failed

Boys + to failed opt for opt for
Girls) boys revaluation | revaluation
I 350 3:2 - 25%
I 600 - 32% 44%
1 420 4:3 22.5% -
IV 450 2:7 18% :

V 800 - 17.5% 32.5%



Q4) If the average number of failed girls from these five sections was 232, then what was the total number
of failed boys from these five sections ?

Ife o1 U gdil @ 3ffaior orsfehat dr 3ad dear 232 Y, & g1 9 gail @ 3HeleIor oA5ehi
& For TEAT fhae off?
a) 1470 b) 1430 c) 1460 d) 1480 e) none of these

Total Ratio | % of % of
failed | of girls | total total
student | failed | girls boys
s (Boys |to failed | failed

+ Girls) | failed | optfor |optfor
boys revalua | revaluat
tion ion

I 350 3:2 = 25%

Il 600 - 32% 44%
1 420 4:3 22.5% -

IV 450 2:7 18% -

V 800 - 17.5%  32.5%



Q5) From section Il, number of girls not opted for revaluation was 26 less than the number of failed boys not
opted for revaluation, from section Il, the number of failed boys opted for revaluation is what percent more
than failed g|rls opted for revaluation from the same section ?
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a) 85% b) 95% c) 92.5% d) 87.5% e) none of these

Total Ratio of | % of total | % of total
failed girls girls failed | boys failed
students ( | failed to | opt for opt for
Boys + failed revaluatio | revaluation
Girls) boys

I 350 3:2 - 25%

I 600 - 32% 44%

1] 420 4:3 22.5% -

\Y 450 2:7 18% -

V 800 - 17.5% 32.5%



e (1-4): THAAE Sd FEATT SheR & HHATRAT & JEAT & IR H SIPRT [T difeldl & & 75 g,
$O AT AT §. oCcd AT AT Y IR 9R&T & 3 <.

Performance(mi?l') -

ad LGNS 3T
ey 20
Higev 64
Total 60

AC: a) I FHAR AT A Icpsc T T &
b) 40% HHINT HAfgTT gl
c) Teh TgTs TR sheurl 3ad gl

Q1) FAAIRAT H F fohcdsil 3cpse Afgey g7
3) 0b) 10 ¢) 20 d) FYUTRT 1ET FAT ST THhaT e) S8 & PIS AT




Direction(1-4): Information regarding performance of employees of SBI zonal office Bikaner is given in following table ,
some values are missing .Find missing values and give answers of questions followed .

Employees
Average Bad Excellent

Male 20
Female 64
Total 60

Note: a) Half the employees are either excellent or bad.
b) 40% of the employees are female .
c) One third of the male employees are average.

Q1) Amongst the employees how many are excellent female ?
a)o b) 10 c) 20 d) can’t be determined e) none of these



Q2) What proportion of the average employees are male ?
I fohcel 37T IoW & ?
a) 0.6 b)0.33 c)0.4 d) 0.3 e) none of these

Employees
- Average Bad Excellent -

Male 20

Female 64

Total 60



Q3) What percent of female employees performed bad ?

fhdel gfaera Afger FATRAT oF WIS 92t fhar ?
a)o b) 25% c) 50% d) 10% e) none of these

Employees
- Average Bad Excellent -

Male 20

Female 64

Total 60



Q4) The ratio of bad performed male employees to average performed female employees is ?
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a)11:12 b)12:11 c) 13:12 d) 5:6 e) none of these

Employees
- Average Bad Excellent -

Male 20

Female 64

Total 60
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Class Average marks scored in | Total marks scored Average marks Total marks scored
“ team sprit”’ In “team sprit “ scored in “1Q “ in “1Q”
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foshr B-4 6B B-1 6B + 24
Aleld 20 C 28 D
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Direction(1-3) : The table given below shows the total marks and average marks scored by the officers of three
departments of TCS Gurugram branch in a departmental exam . Exam has three subjects i.e. “ team sprit”
general IQ “ and “ managerial skill “ but detail of two subjects is given in following table . Total number of officers of

all these three branches is 42.

Class Average marks scored in | Total marks scored Average marks Total marks scored
” team sprit”’ In “team sprit “ scored in “1Q “ in “1Q”

Production A 8A + 16
Sales B-4 6B B-1 6B + 24
HR 20 C 28 D

Note: All the officers of each department gave the exams for all three subjects. The marks scored by all the

officers were in integers.
1) Find ratio between number of officers in Production and Sales together to number of officers in HR ?

A-11:10 B—7:10 C-2:5 D — can’t be determined E — None of these



2) If the total marks scored by HR department in Managerial skill is 1.4 C. What was the average marks scored by

HR in Managerial skill ?
Ife AlTa FHTT AT SaRT Gershry e # UItd Fef 37k 1.4 C &1 GTURT PlRIeT H AlAq

HET GaRT 9Ied 3-ﬁHd 3-I°h Far q?

A-24 B—-26 D-27 E — None of these
Class Average marks scored in | Total marks scored Average marks Total marks scored
“ team sprit”’ In “team sprit “ scored in “1Q “ in “1Q”
Production A 8A + 16
Sales B-4 6B B-1 6B + 24

HR 20 C 28 D



{

3) What is the difference between the total marks scored by the three departments in “ team sprit” and “

general IQ “?
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A-118 B—-128 C-112 D—-148 E — None of these
Class Average marks scored in | Total marks scored Average marks Total marks scored
“ team sprit”’ In “team sprit “ scored in “1Q “ in “1Q”
Production A 8A + 16
Sales B-4 6B B-1 6B + 24

HR 20 C 28 D
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